Solar Energy Proposal

For

Vidyalankar Institute of Technology

To, Shailesh Mapuskar, Facility Manager, Vidyalankar Institute of Technology

Dear Mr. Shailesh,

This is a brief proposal for installation of a rooftop solar system by HCT Sun (India) for your college, Vidyalankar Institute of Technology. We will provide you with an offering that will result in positive results for your college.

In this proposal, we have outlined who we are, what we do and what would be the benefits of this project for Vidyalankar Institute of Technology.

We hope to answer all your basic queries and concerns through this proposal.

Yours' sincerely, Sejo Jose HCT Sun (India)

Please feel free to contact us through:

Phone:

Landline: +91 22 49 23 23 48 / 49

Mobile: 82919 789 62 / 64

E-mail:

sejo@hctsun.co.in

Who are we?

- HCT Sun India is a <u>US-owned</u>, <u>India-based</u> rooftop solar power company.
- We provide customers with solar power, offering guaranteed annual money savings to them.
- We sell power. We do not sell any equipment.
- We use the <u>newest technology</u> to optimize power production.
- We are one of the only three rooftop solar companies that have received funding from the US-India Clean Energy Finance.

Our proposal

- We will install a solar power system on the roof of Vidyalankar Institute of Technology.
- You will never pay for installation, operations and maintenance of the system.
- We will sell the electricity generated by the system to you; the price will always be lower than the tariff you are paying.
- The <u>surplus electricity</u> (which is produced, but not used by you) will be sent to your electricity provider, and you will <u>receive credit</u> from your electricity provider for the same.
- We will promise you with guaranteed annual savings.
- All <u>building permits and regulatory approvals</u> related to the solar project will be HCT Sun's responsibility.

What are the benefits for you?

- You will not be paying any money for the system, installation, operations or maintenance. There will be zero capital expenditure from your side.
- · Your monthly electricity bills will be lower.
- There will be no operational risk for you as we will monitor all operations at our end.
- · There will be no damage to your roof.
- You can proudly claim that your organization is using clean, renewable energy.

Our Strengths

- We will install a system that is suitable for your roof and your electricity consumption. We will study your roof dimensions and your electricity bills, and let you know about what capacity of a solar power system can be installed for your organization.
- We use only top-quality equipment and components, which will guarantee production levels and savings for you.
- The materials we use for installation will be efficient ones, meaning that they will be lighter, but stronger
- Our strong internal parameters ensure that our systems operate and are maintained to the highest standards.
- We will proceed with the project only as per government regulations.

Thank you for taking out time to go through this proposal.

We hope that we have answered some initial questions that you may have about solar solutions.

We would be happy to take this proposal to the next stage by having a site visit.

As we have mentioned in the proposal, our goals are to ensure that you enjoy cost savings and access to renewable energy, without any worry.

Thank you, and looking forward to working with you.

Yours' sincerely, HCT Sun (India) Vidyalankar Dnyanapeeth Trust's

Vidyalankar Institute of Technology

Wadala (E), Vidyalankar College Marg, Mumbai-400037
+91 22 2416 11 26
vidyalankar.edu.in
GST No.: AAATV2195F1ZC



_ . _ .

Τo,

COMPUTRICS INTEGRATION TECHNOLOGIES PVT.LTD.,

PO Number :

03300

MAHIM (W) MUMBAI - 400016

PO Date :

28-08-2018

-/9702080320

Contact Person :----

Please arrange to supply following to Vidyalankar Institute of Technology.

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

Sr. No.	Item Name	Item Remarks	Quantity	Unit Rate (₹)	Total Amount (₹)	Add Taxes (GST	
1	SOLAR POWER GENERATOR	3KW CAPACITY (3000 WATT @55/-)	1(Number)	165000.00	165000.00	0.00	
			Total Amount :		165000.00#	# + Taxes as Above	
			Round Off Amount :		₹ 165000.00		
Amount in Words :One Lakh Sixty Five Thousand rupees only							

PO Remarks: 1) LOCTION: M BLOCK LAB NO.514

2) TAXES ALL INCLUSIVE

Principal

- 3) GUARANTEE OF SOLAR PANELS AND ALL DELIVERABLES AS MENTIONED AS PER YOUR PROPOSAL
- 4) COMPLETION OF WORK AND COMMISSIONING SOLAR PLANT : WITHIN 4 WEEKS FROM THE DATE OF PURCHASE ORDER.
- *AMOUNT WILL BE PAID AS PER PURCHASE ORDER OR AT ACTUALS, WHICHEVER IS LESS.

For Vidyalankar Institute of Technology (VIT)

Vidyalankar Dnyanapeeth Trust's

Vidyalankar Institute of Technology

Wadala (E), Vidyalankar College Marg, Mumbai-400037
+91 22 2416 11 26
vidyalankar.edu.in

Vidyalankar Institute of Technology
Accredited A+ by NAAC

GST No.: 27AAATV2195F1ZC

Purchase Order

To,

COOL ART PO Number: 04962

4/64 KRISHNA NIWAS, HINDU COLONY, DADAR(E) - 400037 **PO Date** : 31-05-2022

022-65780606 / 9323409211

Contact Person :----

Please arrange to supply following to Vidyalankar Institute of Technology.

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

Sr. No.	Item Name	Item Remarks	Quantity	Unit Rate (₹)	Total Amount (₹)	Add Taxes (GST		
1	SERVICE CONTRACT	NON COMPREHENSIVE AMC OF AIR CONDITIONER - WINDOW AC (1.0 TR)	2(Number)	366.66	733.32	18.00		
2	SERVICE CONTRACT	NON COMPREHENSIVE AMC OF AIR CONDITIONER - SPLIT AC (1.0/1.5/2.0 TR)	93(Number)	366.66	34099.38	18.00		
3	SERVICE CONTRACT	NON COMPREHENSIVE AMC OF AIR CONDITIONER - DUCTABLE AC (5.0 TR)	14(Number)	600.00	8400.00	18.00		
4	SERVICE CHARGES	NON COMPREHENSIVE AMC OF AIR CONDITIONER - DUCTABLE AC (8.5 / 7.5 TR)	3(Number)	1517.00	4551.00	18.00		
			Total Amount : Round Off Amount :		47783.70#	# + Taxes as Above		
					₹ 47784.00			
Amo	Amount in Words : Forty Seven Thousand Seven Hundred and Eighty Four rupees only							

PO Remarks :1) AMC PERIOD : 01.06.22 TO 30.09.22 2) ON EVERY SERVICE TO FILL THE ATTACHED CHECKLIST

*AMOUNT WILL BE PAID AS PER PURCHASE ORDER OR AT ACTUALS, WHICHEVER IS LESS.

Principal

For Vidyalankar Institute of Technology (VIT)

Vidyalankar Dnyanapeeth Trust's Vidyalankar Institute of Technology Wadala (E), Vidyalankar College Marg, Mumbai-400037 +91 22 2416 11 26 vidyalankar.edu.in

| Vidyalankar | Institute of I Technology Accredited A+ by NAAC

GST No.: 27AAATV2195F1ZC

Purchase Order

To,

J.K.SERVICES PO Number: 05109

MUMBAI -PO Date 13-09-2022

-/9664376600

Contact Person :----

Please arrange to supply following to Vidyalankar Institute of Technology.

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

Sr. No.	Item Name	Item Remarks	Quantity	Unit Rate (₹)	Total Amount (₹)	Add Taxes (GST		
1	SERVICE CONTRACT	NON COMPREHENSIVE AMC OF AIR CONDITIONER - WINDOW AC (1.0 TR)	2(Number)	540.00	1080.00	18.00		
2	SERVICE CONTRACT	NON COMPREHENSIVE AMC OF AIR CONDITIONER - SPLIT AC (1.0 /1.5/2.0TR)	87(Number)	540.00	46980.00	18.00		
3	SERVICE CONTRACT	NON COMPREHENSIVE AMC OF AIR CONDITIONER - DUCTABLE AC (5.0 TR)	14(Number)	900.00	12600.00	18.00		
4	SERVICE CONTRACT	NON COMPREHENSIVE AMC OF AIR CONDITIONER - DUCTABLE AC (8.5/7.5 TR)	3(Number)	2250.00	6750.00	18.00		
			Total Amount : Round Off Amount :		67410.00#	# + Taxes as Above		
					₹ 67410.00			
Amo	Amount in Words :Sixty Seven Thousand Four Hundred and Ten rupees only							

PO Remarks :1) AMC PERIOD: 01.09.2022 TO 28.02.23

2) SERVICE: BY MONTHLY SERVICE (TOTAL 3 SERVICES - 1 WET & 2 DRY)

3) SCHEDULE: SEPT-OCT'22-WET SERVICE / NOV-DEC'22-DRY SERVICE / JAN-FEB'23-DRY SERVICE

*AMOUNT WILL BE PAID AS PER PURCHASE ORDER OR AT ACTUALS, WHICHEVER IS LESS.

Principal

For Vidyalankar Institute of Technology (VIT)